NAVOLI SANGAM SCHOOL

ENGLISH WORKSHEET 1
GRAMMAR

Circle the letter of the best answer to each question in the Answer Booklet.

1.

10.

Which of the following words is spelt correctly?

A. Augast B. Junuary

C. November D. Juli

The children were asked to bring umbrellas.
A. them B. they’re

C. there D. their

Goldilocks could not sit comfortably on Father Bear’s chair because
was too hard.

A. he B. it

C. she D. one

Choose the long form of the underlined word in the sentence below.

The children weren’t told about the trip to Nadi.

A. were not B. where not

C. was not D. would not

Choose the correct pair of opposite words below.

A. fair, fare B. poor, wealthy

C. complete, finish D. fast, quick

Katarina enjoys watching rugby but she know the rules of
the game.

A. don’t B. didn’t

C. doesn’t D. isn’t

We invited Ram to go to the pictures with us but he said he ,
because he was busy.

A. can’t B. hasn’t

C.didn’t D. couldn’t

The brave boy ran into the burning house to the little baby.
A. rescue B. rescues

C. rescuing D. rescued

One of the girls absent yesterday.

A. is B. was

C. are D. were

Isireli climbed a big tree and six coconuts.
A. pick B. picked

C. picks D. was picking

THE END



